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OTEXBEH3 (0ZFH - HFIE - <o - 2E0A) | HEHE (2HEULENTHE (BAI: /)

XFH - LB TEER

7Y —>EMA LB E I EE A
R BEh Zob BEh o

FEl1&H7-Y | FELE&HIY | FELLHEY | FEL1RHY
B ~ ZHE 3,850 1,920
R = B 3,910 1,950
B ~  HABR 3,910 1,950
R ~  FA 3,910 1,950
B ~ [l 4,080 2,040
b == &l 4,250 2,120
B = Nz 4,310 2,150
R = &l 4,670 2,330
B ~  FhOo 4,550 2,270
b == NE 4,300 2,150
B ~ 5% 4,300 2,150
&)l ~ &ZHE 3,850 1,920
&)l = REB 3,910 1,950
&)l ~  FKBR 3,910 1,950
&)l ~  FHA 3,910 1,950
&)l ~ Ly 4,080 2,040
&)l = &l 4,250 2,120
&)l ~ N 4,310 2,150
&)l = &l 4,670 2,330
&)l ~ #FhA 4,550 2,270
&)l = INE 4,300 2,150
&)l ~ #H% 4,300 2,150
EE ~ &Z0E 3,850 1,920
R ~ B 3,910 1,950
HEE  ~ AR 3,910 1,950
R ~ A 3,910 1,950
oEE ~ [l 4,400 2,200
R ~ &l 4,250 2,120
oEE ~ Nz 4,640 2,320
R ~ &l 5,000 2,500
FEE ~  #FHuOo 4,550 2,270
R ~ NE 4,300 2,150
oEE ~ % 4,300 2,150
ZEHE ~ B 3,790 1,890
ZEHE ~ IE2 3,790 1,890
REB = \V=¥ 4,430 2,210
R == IEE4 4,430 2,210
MR ~ \V=¥ 4,630 2,310
AR~ #H% 4,630 2,310
MR ~ REAR 7,480 3,740
AR ~ EBRESHR 9,640 4,820
e ~ \V=¥ 4,630 2,310
R ~ #H% 4,630 2,310
e~ REAR 7,610 3,800
R ~ BRSHR 9,780 4,890

5% = REAR 2,530 1,260 2,530 1,260

E4 ~ BREHR 4,930 2,460 4,930 2,460




OTEXERE3 (UVA,VA) | BER (2BRULENIIEE
XFH - £kE TEE

Y —EH
HEXME Beh &
FElZH:Y | FEL1&AHY

R ~  ZHE 3,520 1,760
R =~ AR 3,580 1,790
R ~ KR 3,580 1,790
el ~  ZHE 3,520 1,760
il ~ AR 3,580 1,790
il ~ AR 3,580 1,790
e ~  &hE 3,520 1,760
e ~ AR 3,580 1,790
R~ AR 3,580 1,790
Z2EE  ~ AR 2,060 1,030
ZHE  ~ AR 2,060 1,030

OTEXREE3 (A | BER 2BRULENIIEE
X B - KB TR

7Y —>EH
R AE X [H bSRAAN ZED
FB1EZ&HhY | FEL1EHIY

ER ~  JHR 1,720 860
ER ~ g 1,720 860
BHR ~ =8 1,720 860
ER ~ et 1,960 980
ER ~ e 1,960 980
BHR ~ #h11 2,030 1,010
ER ~ PN 2,030 1,010
BHR ~ 215 2,030 1,010
ER ~  ZAR 2,810 1,400
BIR ~  ZHE 2,810 1,400
ER ~ IXEPS 2,810 1,400
ER ~ KR 2,450 1,220
ER ~ AR 2,060 1,030
ER ~ KRR 2,060 1,030
&)l ~  JNHEHE 1,720 860
&)l ~ i 1,720 860
&)l ~ =8 1,720 860
&)l ~  #HETL 1,960 980
&)l ~ Ea 1,960 980
&)l ~ #h11 2,030 1,010
&)l ~ PN 2,030 1,010
&)l ~ 215 2,030 1,010
&)l ~  ZRRE 2,810 1,400
&)l ~  ZEE 2,810 1,400
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&)l I &) & 2,810 1,400
&)l KR 2,450 1,220
&)l AR 2,060 1,030
&)l HTABR 2,060 1,030
gl g 1,720 860
R =8 1,720 860
gl FEL 1,960 980
EAEER= e 1,960 980
R #h11 2,030 1,010
gl PN 2,030 1,010
R 215 2,030 1,010
EAEER= = AR 2,810 1,400
gl ZHE 2,810 1,400
iR I &) & 2,810 1,400
gl KR 2,450 1,220
EAEER= AR 1,720 860
gl T ARBR 2,060 1,030
IR =5 1,720 860
IR FEL 1,720 860
IR e 1,720 860
IR #h11 1,960 980
IR PN 1,960 980
IR 215 2,030 1,010
IR =R 2,030 1,010
IR Z2HE 2,030 1,010
IR I &) & 2,810 1,400
IR KR 2,810 1,400
IR AR 2,450 1,220
IR HTABR 2,450 1,220
g2 =L 1,720 860
g2 EEdRd 1,720 860
g #h11 1,960 980
g PN 1,960 980
g 215 1,960 980
g =R 2,030 1,010
g Z2HE 2,030 1,010
g =B 2,030 1,010
g KR 2,810 1,400
g2 AR 2,450 1,220
g2 T ARBR 2,450 1,220
=8 #h11 1,960 980
=5 PN 1,960 980
=5 215 1,960 980
=8 =R 2,030 1,010
=5 Z2HE 2,030 1,010
=5 Iz B3] &5 2,030 1,010
=5 KR 2,810 1,400
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= B 2,810 1,400
= HTABR 2,450 1,220
e #h11 1,720 860
e PN 1,960 980
e 215 1,960 980
e =IAR, 1,960 980
= ZHE 2,030 1,010
= I &) & 2,030 1,010
= KR 2,030 1,010
= AR 2,810 1,400
= T ARBR 2,450 1,220
F 215 1,960 980
F =IAR, 1,960 980
F ZEE 1,960 980
GEae Iz B3] &5 2,030 1,010
GEae KR 2,030 1,010
F8 [ AR 2,810 1,400
FhfE) T ARBR 2,810 1,400
)1 215 1,720 860
)1 = AR, 1,960 980
#h11 Z2HE 1,960 980
#h11 I &) & 1,960 980
#h11 KR 2,030 1,010
#h11 AR 2,030 1,010
#h11 HTABR 2,800 1,400
PN =IAR, 1,720 860
PN Z2HE 1,960 980
PN I &) & 1,960 980
PN KR 1,960 980
PN B 2,030 1,010
PN HTABR 2,030 1,010
215 I &) & 1,960 980
215 KR 1,960 980
215 AR 2,030 1,010
15 HTABR 2,030 1,010
= A3k I &) & 1,720 860
=R KR 1,960 980
=IAR, =B 1,960 980
= Al Ze ik HTABR 2,030 1,010
ZHE KR 1,720 860
ZHE AR 1,960 980
ZHE HTABR 1,960 980
Iz B3] &5 AR 1,960 980
Iz B3] &5 HTABR 1,960 980
KR HTABR 1,960 980
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